107 =

a(6 @) (rad)

=
S
o

-3 -2 -1 0 1 2 3 2372 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

" DQM_V0001_R000000001__Global__CMSSW_X_Y_Z_ RECO

-5
E E 10 ol
°e )
o s
& S
5
10°°
1077 1077
01078 01078
T r T r
24 r 24 C
0.95] - -+ - e s deres e b e ] Rl sLELLnRt CITEPELT EPPTEERN-TRRPRED
0.9 o N N N N N | 0.9 o N N N N N |
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

oo p./p

10°E

107k

T2 73
TP n (PCA to beamline)

N asasanans
N -
I
iR
o



	Contents
	Page 1


